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. [oops should be g(s)=3/((2*s+1)*(0.5*s+1)"2), not gd(s)=10/(2s+1), in the loop transfer
function.

In any case, difficult to simplify this.

We can also introduce the half-rule approximation of g*gm, but also this does not @

help much since it's not possible to find an expression that can be used to get the
time response ---- so let's try a sketch.
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oops should be g(s)=3/((2*s+1)*(0.5*s+1)^2), not gd(s)=10/(2s+1), in the loop transfer function. 
In any case, difficult to simplify this.

We can also introduce the half-rule approximation of g*gm, but also this does not help much since it's not possible to find an expression that can be used to get the time response ---- so let's try a sketch.
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